MMIEBRA1 6 BifFhesRixibE

RS — AR
1T #f:m2 2T HifI:m2
@ 35.201 @ | 802.698
G 16.069| @ 11070.657
3 . A
: 50.616 @3 273.623
G 20700 @ 99.000
) 2000 &t |3542.469
. —® 6.600 | BREE
E \ B 3 2
[ ® 6.985 &5 [3520.662
, O
- i
T , & o = 1386.356 ) —8 e
e e e e e e e e e e ) - | 2886.122 '
BB = 20807 (////////////////////////Z////%% r:_.@lrm:"mtggg— ''''''' —\@®®* =115.891 @s = 84244 @ 15.682 \///%/‘ _?F— £400 e
— ' %% : v/, - 6. 2, 25T | 2880.722
% / \ ?} %a%’ {5®®” = 6.985 %4_ ) " ‘\%\
/’ [ 9@m = 26.727 \Q \%
\“ v \-@@r = 1140.051 \\%‘\
\’/é\ /
g
W
CEEM = 5495.333 ? ‘/“ £ %
; \é&%j ) wae—t
¢ _ N © ‘:\’% ///‘
| - %\g\\—’ 4 . T "‘\_7//////4\
> N\ — : 7))
Tan |
/ 0 ds D 2 X | (////":\A
= S T bl = 1032.973 T
2 m& 1070.657 4 B = 35.201 %_T' 5 11 & @ 5 ER = 16.069 {:ﬁgg?f:ﬁ - A
\ | ‘ _ I T B
BEEs BEY - RREED
BEES 2 /v XOWE 3 %

% R 1:500[ REER |




MMIEBRA1 6 BifFhesRixibE

TEBBEN

1T  Bify:me 2T 8{y:m2 3T :m2
t=3002K B t=6008% =150 :
35201 | D [ 438421| @& 97.988

16069 | @ | 1070657 | @ 14179 .
@

60.538 | @ 364.277 5 75.153
50616 | &t 1873.355 | @ 418812

20.100 | IR EIFR & 48892

167995} D 21.807 | & | 5495.333
&
1

1HHRE =600
1EREE = 21.807

Q= 15.682
= — == @®@® = 6.100

gy !

ii] . D e et U e o
- v :" - R y \ X =
LIEWR t=150 PR S P \ =
BIREH = 16.328 2 SO (4 e
o N < N ) — a‘ \ _/—T_ =
NG 2 5 . -- ; ' oL
v NNV 2 /"o,' 4 A v
D, Voo
“‘/‘.‘ \‘
. @\

HIRMR t=130
EHEIE = 113.471

[SUEY)

2000 | & 21.807 |{RRRTEIE

6,600 | &5t| 1851548 | @ 16.32_@’
3.240 P 113471
16.200 | =300 B B | 120799
6985 | @ 156.440 | &%t | 5365534

e
e
e

6.100 | @ 99.000
15682 | &t 255.440
84.244

%b@é%@@@@é@@@@@

26727 | =150 |
115891 | &3 | - 1140,051
634.788 | @s 273,623

- LaEt] 1413674

s

™
a2

FReEIEIRT U 7 < LIBUREBARILS

2% S
T ST S

OIN
|

o7
S o

- 2YER = 97.989
Ty
\

A

s

A

\ / RS | & B |msem— Rl
\\'&% — - WR® | W60 | 30
| | e cEm

7

7
\

-
\\\k\\\}\§\\\\
W

i

\\Ci g

i

pit:d K=1200 H=600

3

L

HEHOLBOTELY, BL, HERAOKIZ.
BRELERS— MIXETHI L,

\

e

.

Y

&

g

<§

T

ek

Tk

5%

22

- \/“ \ §‘% \\ _____ 2T
- T ORE TSR )

e@
Y pBEE = 3.6m2 :

2 @R 1070.657 4 ®H = 35.201 o ' —
’ : , 5 B = 16.069 ' (misLes)
' o 11 &5 @& RBER = 1.8m?2

(mae—-sxu)

Bt BH® - TE W %
g t=600

__________ THmE =300 . [ fiigs TIRRRTER
1T3g R t=150 b YER . || BEEs 2 ¢ RORE 7 5
iR t=150 THEL

@ R|[1:500 | meER |




MMIEBRA1 6 BifFhesRixibE

sh BRI E & (1415)

_ o e | an | TR | ews el o e T SEE | e
o ' : : . ATy 05 |Pci0s 450 & | 7200 1e70]  eso| 1380 i
' ‘ savY 05 |P.C.105 95| & 50 45 ,
: » 5T /% 05 |pcios 535 & | 340 195
, : ' - lesraxun | o5 |pcaos g0l k| 235 145 BAFHR
¥Izuir4 | 05 |Pcios 280 & | 185 95 2% /m?
’ ' : : ' HHLE/ 05 |pcios o2 55 & 55 '
) Eyay 05 |P.C.10.5 55| &1 85
' i 4 togwise | o5 |potos o2, 58| & | 575 189
. ’ FYRXIEF| 05 |P.C.10.5) 360[ & 360 hkRE | -
5’1\ J%]*[E:;& 3 | 7* E]#[E?Fﬂi 1 ' _ : RRS 05 |Pci50 03 1450 & | 450 155 845 az/m
: S v T THE 05 |P.C.10S oa60) & | 7ss| 6200 eso|  ass
------ —- ----- - - - 4 ) . //// /\vi:ﬂﬁj\'— 03 |PC.I20[ 17941 1145 32 27 500 ﬁz::;/m
- "::::_"::‘.::' ' B - AYEYAE | 03 |Poazo 104) % 104 B
B | ’ 7/%//;‘ (/i/i%\‘i) — 53655 m2 53655 e
- ¥ |
3T 3';::'_‘ | //%
sAEHER 5 Wiz ;é
EE::.:. % \‘//
LY — ! .
%% -\
= ]
.':." — \ >
- W .//“ =3 - ‘ oy W ‘% \ )
| _‘ : ::::::::::::E:-ﬁ / = ' \‘\ \\ \ \ \ ' H Py \\ \‘\ \ / .
- / ' \ ''''''''''''' - — \\\rmm? | / |
i N—
ThmER 4 NEEER 2 _ . .. . .
: . BERS) SREREAR
OEEE| £ ‘Y ROWE 2 £
% R 1:5oo| nBER |




MMIEBRA1 6 BifFhesRixibE

S EHER 1

| L
L.-;._._._._._._;.,‘ _

sTR|

NEHERS |5

S EHER 4

| I TR MBS - 2. NEES)
OTX (SBEHS - 4. WEES)

3T MEiEES)

] e ms

P R A A

BEER LETER
BEES 2 /¢ ROARE /5

% R|1:500 I”ﬁ?if\ |




